0001857632418999

&2leo—O SENBXY 06—

2014 4 %5 4 [

4 | ROFNIZEZ L.

(1) iy = —a? —2x & x W& CTHRENWMOOMWMS 2R £.
(2) Mgy = —x% —2x 2 y SIS EABEL 22 v = f(x) £ §5. Tty = f(x) & z e T
FENAMOOHEENES &>/, gy = f(x) DARBRRE KD L.

(1) 7: —xX (2 +2)
. ;:f&,xz-zx Ax
ol

1]

—/" (1 +2) X
=

]

3
£z

- ¥
3
celf

///

(2) f(x) = —2—2x+ ¢ £H < ///j/

_xT=2XtC =0 mﬁ?%?ﬂ(‘ﬂ(o(ﬁg)t °L/ ﬁ\7
dXE,

ﬂ 2 X + 6{1 —,mec

93: ja{ - =2 4 ) 0((@ = —-—-—————-L >
= =/ 2 eer

- [P -0 -

oL "~[3-d=-2/2?/

- él(ﬂ “’903 oo+l = R

gt = #

£y, F-aP=F 8 o

s 3

N VLN EY Ty p ,
o - 7= -+
B> ot £ ﬁ'fﬁ: y H) = = =24 y




